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QUESTION 1

Which two are true about consistent database backups? (Choose two.)

A. They can only be taken if the database is in ARCHIVELOG mode.

B. They can only be taken by using RMAN command.

C. They can only be taken when a RECOVERY CATALOG is used.

D. They can only be taken by using RMAIN when the database is in MOUNT state.

E. They can only be taken if a NORMAL, TRANSACTIONAL, OR IMMEDIATE shutdown has been performed and the
backup is taken before the database is reopened.

Correct Answer: DE

QUESTION 2

Which two statements are true regarding B-tree index? (Choose two.)

A. The leaf blocks in the index are doubly linked.

B. The leaf node stores a bitmap for each key value.

C. The rows with NULL value in key columns also have entries in the index.

D. The deletion of a row from the table causes a logical deletion in index leaf block and the space becomes available for
the new leaf entry.

Correct Answer: AD

QUESTION 3

Automatic Shared Memory Management is disabled for your database instance. You realize that there are cases of SQL
statements performing poorly because of repeated parsing activity, resulting in degradation of performance.

What would be your next step to improve performance?
A. Run the SQL Access Advisor

B. Run the memory Advisor for the SGA

C. Run the memory Advisor for the PGA

D. Run the memory advisor for the shared pool

E. Run the memory advisor for the buffer cache

Correct Answer: D
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QUESTION 4

User SCOTT executes the following command on the EMP table but has not issued COMMIT,
ROLLBACK, or any data definition language (DDL) command:

SQL> SELECT ename FROM emp

2 WHERE job=\\'CLERK\' FOR UPDATE OF empno;

SCOTT has opened another session to work with the database instance.

Which three operations would wait when issued in SCOTT\\'s second session? (Choose three.)
A. LOCK TABLE emp IN SHARE MODE;

B. LOCK TABLE emp IN EXCLUSIVE MODE;

C. UPDATE emp SET sal=sal*1.2 WHERE job=\'MANAGER\\

D. INSERT INTO emp(empno,ename) VALUES (1289,\\'Harry\\");

E. SELECT ename FROM emp WHERE job=\'CLERK\\' FOR UPDATE OF empno;

Correct Answer: ABE

QUESTION 5

Which two are true about AWR snapshots? (Choose two.)

A. They are always created automatically.

B. They can be modified by using DMLs.

C. They are not generated if STATISTICS_LEVEL is set to TYPICAL.
D. They are stored in the SYSAUX tablespace.

E. They can be retained forever.

Correct Answer: AB
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